N = 0l &8 AFY Y9 AN A
20108 20 A LBIS|IH  JEIE Y3 H HEAIAZCIAIE A ~ HEAFA 22| AN A
SN HEBAFA 22| AIS A
M HEAA 22
SR HEBAIA o3 = (¢t &
SA BB .S (BH) - MBEAY - B2 Of) & 04 gggf; SmE=L
HEAFA 22| AP A 411,116 435,916 A 24,800
= 321,000
= 90,116
HEAA 22 252,138 278,127 N 25,989
2 226,854
= 25,284
HEANA Holal= 125,126 156,216 A 31,090
2 99,842
o 25,284
Yoz =2gs I 54,842 61,132 N6,290
= 54,842
101 21| 28,342 34,632 N6,290
= 28,342
03 RIHALZ=Z=XE > 15,119 0 15,119
O& AL2t2] 15,119
oJlE=s 35,200 »1H x255 8,976
= 8,976
oati =3 8,976,000 / 128 x4 3] 2,992
= 2,992
oFELYE 35,200& x 1«52 1,831
= 1,831
oHXIEE 35,200& x1H 15 528
2 528
ooFIRYS
4,400 *1 . 5% 1H*=10A| 2t x12& 792
= 792
04 JIZHMIZ2ZANSE S 13,223 34,632 A21,409
OAEE BZ 3| 13,223
o=z 36,520& 1 *255 9,313
= 9,313
oFsxH 36,520 x1H x5 1,900
= 1,900
[eRPNESI=, 36,520& x1H =15 548
= 548
o El&= 36,5202 *30L! x487/365 1,462
= 1,462
201 LBt29H| 24,500 24,500 0
= 24,500
01 AIR&2lH| 15,000 15,000 0
Ogt=2H| 15,000
oEEZ HZE 10,000, 000& 10,000
= 10,000
OXMEEE MZE 5,000,000& 5,000
= 5,000
03 SHAIEGHI 9,500 9,500 0




SM AZAFA 2| ALY &

Ha: HEFAR 2
el HEAR Holsl=

SN C(BH) - NRAY - HES Aro L=t HlmE2
Ol &k
OF&AE HAI2 9,500,000& 9,500
= 9,500
202 O4H| 2,000 2,000 0
= 2,000
01 =LA bl 2,000 2,000 0
OHEAA EOl & & 2,000
o HEAHA 3 22 ol
2,000,000& 2,000
= 2,000
FI2HA 2 RE3 K& 45,000 45,000 0
= 45,000
307 212t01& 45,000 45,000 0
= 45,000
02 ItAASE X 45,000 45,000 0
OHEA 23] A CIRES= PN
20,000,000 = 14] 20,000
= 20,000
OR=E3 AR4 25,000, 000& 25,000
= 25,000
HEAA 22 K& 25,284 20,084 5,200
201 Let23d| 5,000 0 5,000
01 AtE222|Hl 5,000 0 5,000
OZdEAE Z211s HA2Y 5,000,000& 5,000
202 44| 18,284 18,284 0
01 =LA bI 18,284 18,284 0
OAHEFAMNASR =& Kl 18,284,000& 18,284
203 HRF&Y| 2,000 1,800 200
03 AIMFXAHRFEH| 2,000 1,800 200
OHEMAANHLR FX 2,000,000 2,000
FI233 el 127,012 121,911 5,101
= 127,012
FR3@ =4zel 127,012 121,911 5,101
= 127,012
101 elHH| 55,512 63,450 AT,938
= 55,512
04 J12tHIZ22 X 55,512 63,450 AT7,938
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= 21,912
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= 7,500
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= 10,000
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= 10,000
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10,000,000& 10,000
= 10,000
401 AlEHIZ 2 40,000 11,000 29,000
= 40,000
01 Al&H| 40,000 11,000 29,000
Oogdg s TV &Xl 7,500,000& 2CH 15,000
= 15,000
OH=2 SHEE =SHelMY
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= 25,000
HY 2L HHI(HEFAAZEIAIE A) 158,978 157,789 1,189
= 94,146
= 64,832
ol 2| 64,832 64,832 0
oI 2| 64,832 64,832 0
101 elH| 40,432 40,432 0
01 2=+ 40,432 40,432 0
Oz 40,432
obh= 9,796 x1H «50A| 2+x 123 5,878
o6= 8,312& x2Hx50A| 2+ 12 9,975
o7= 7,457 x2B x50Al 2tx 128 8,949
(oo =1 6,682% x2H x50 Al 2tx 12 8,019
33 6,342 x2B «50A| 2Hx 123 7,611
203 HRF&H| 3,280 3,280 0
02 HRANMBRFEH| 280 280 0
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01 Mg AH| 1,200 1,200 0
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02 Mg et 15,120 15,120 0
Oba 250,000 x1H «12& 3,000
O6= 155,000& *2F x 123 3,720
O7= 140,000& x2F » 123 3,360
OF=1 105,000 x2E 12 2,520
O&#& 105,000 x2H 12 2,520
03 EHYR-HESHI 4,800 4,800 0
Ol o &=l 50,0003 x8F +x12& 4,800
Jl23dl 94,146 92,957 1,189
7 2 %, 146
Jl22Z | 94,146 92,957 1,189
= 94,146
201 L2 H| 89, 146 78,957 10,189
= 89, 146
01 AtE222|H] 36,919 34,857 2,062
Ogt=ZH| 23,819
OHTANEESFL 980,000& 980
= 980
OXMEHIARE P2 5,453,000& 5,453
= 5,453
o folZHIE9H| 500,000& = 12& 6,000
= 6,000
ot ¥ EE= MZ 3,000,000& 3,000
= 3,000
odEF=Z= 70,0003 123 840
= 840
OEMAARSTH 2,866,000 2,866
= 2,866
oFAMACIAZE Y 3,000,000& 3,000
= 3,000
o0 RN2ALEI+=ZH| 1,680,000& 1,680
= 1,680
oz2d=¢ 5,600
o ¥=AH| 50,0002 x1H »112 5,600
= 5,600
OF=3=i:] 7,500,000& 7,500
= 7,500
02 2223H| 52,227 44,100 8,127
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Sl Jl= (25l &2
” 5. CHOl (3 - - e =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

02222 2 AA 28,799
OBA U EZ2THAIL MII23
2,000,00024+ 122 24,000
= 24,000
0F2TY MIINHBRAUY $42
152,008 %122 1,824
= 1,824
osYsE 22,0002 %128 264
= 264
oXNTREE 685,0002! 685
= 685
0AYHY BB 600, 0002 600
= 600
024TEET BAS 442 400,0002! 400
= 400
0JIEt 2222 L HAl 1,026,000 1,026
= 1,026
ozl 1,000, 00021 62 6,000
= 6,000
CNEETES 14,428
OBA ¥ EZ2TE ALFHIRA
11,428,0002! 11,428
= 1,428
0Z22 MIIALRYISAL 3,000,000 3,000
= 3,000
Oxt | 3,000,0002! 3,000
= 3,000
405 THAHE St 5,000 14,000 9,000
= 5,000
01 RAUSEHSY| 5,000 14,000 29,000
OFANHE 7 500, 0002 10 5,000
= 5,000




